Esercizio 8.9 Formula molecolare: C4HyNO, Difficolta ¥ Y¥ Y¥ %

Solvente: D;O
Campo: 500 MHz (TH); 125 MHz (13C)
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Esercizio 8.10
Solvente: DO
Campo: 500 MHz (TH); 125 MHz (13C)

Formula molecolare: CsH,O4
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Esercizio 8.13 Formula molecolare: CgH; 4O Difficolta Y Y W ¥<¥
Solvente: CDCly
Campo: 500 MHz (TH); 125 MHz (13C)
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Esercizio 8.11
Solvente: D,O

Formula molecolare: CgH;{NO

Campo: 500 MHz (TH); 125 MHz (13C)

(1) (1)

™ | A

Difficolta ¥ W ¥ ¥x

0

| |

J L
710 sio 5,‘5 5:0 4:0 315 3,‘0 '
H (ppm)
DEPT 135
13c ‘ \
150 140 130 120 110 100 90 70 60 50 40
13C (ppm)
cosy | | | |
' |
| 1l
DU | B S,
- 28
= 03
= - 3,0
- 3,1
, - 3.2
—— Il ’
oy
- 34
£
. g
6,7 :f
- 6,8
N (F i
_ @ @@ 6.9
- 7.0
-7
_ p =\ -T2
715 7,‘4 712 711 710 6:9 618 5:7 616 3:3 3,‘2 3:1 310 219 218

H (ppm)



HSQC

Juwwk

-115

-120

-125

-130

-135

HMBC

74

7,3

7.2

7.1 7,0 6,9 6,8 6,7 3,3 3,2 3,1 3,0 2,9 28
H (ppm)

- 35
40
45

115
120
125
~130
135
140
145
-150
155

-160

76

7.4

7.2 7,0 68 3,4 32 3,0 2,8
H (ppm)

2,6

13C (ppm)

13C (ppm)



7,22 6,90

133,0 118,55
131,2 157,3
HoN—CH,—CH, OH
3,23 2,93
43,5 34,7
7,22 6,90

133,0 118,55



Esercizio 8.12
Solvente: DO

Formula molecolare: C¢H;5,04

Campo: 500 MHz (H); 125 MHz (13C)
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